AUTO MIG 24

v

RoHS

C € mvooonsz @

Technical data BARSH

Cooling A# %3 Water Cooled 7%

Duty cycle 100% #2%100% 300Amp CO, ,270Amp MIX
Wire Size R4£HRE ©0.8-1.2mm

19

S

ST (O

1 1CS0806 145.0080 Gas nozzle ®12.5mm; B H® 12.5mm
2 ICU0003-10 140.0253 Contact tip® 1.0mmE-CU/M6x25 ; S B B ®1.0mm/M6x25mm
3 ICU0683 142.0003 Contact tip holder M6x26mm ; 5 F& I FE24KD/M6x26mm
4 ICF0539 White ceramic gas diffuser; B & [ & 9 fi 88 24KD
5 1C10036 Torch Head auto 240 45°; B #1#8 31 240 45°
6 1C10037 Torch head auto 240 0°; H #1831 240 0°
7 ICV0671 Spring cable support for torch auto; B st BB L E A E
7.1 ICV0675 Handle for auto MIG torch; F#AMIG & 34t 3
7.2 IFT0069 Screw M4x8 ;424 M4x8
7.3 IFT0898 Spring for cable support; B 45 7 ¥ 3# &
8 ICD0067 Cable assenbly 3m 401D-501D;7k /4 B2 4540 3m 401D-501D
9 IFT0734 171.0002 Clamp® 8.7, £ 0 8.7
10 IFT0737 173.0001 Clamp®9.5; k9.5
1 1ZT8070 501.0114 Quick connector water® 6 ; 7k /4 & & £ ®6mm
12 IFT0870 Spring cable support 401D-501D; B 4 % ## 3% % 401D-501D
13 IHJO777 Joint for MIG handle ; MIG F## f Bk 5k
14 IHJO715 Handle closing ring ; F 4 i & 3}
15 IHJO764 Hose support for water cooled rear box; K 4 FIBEAKE L
16 IFT0063 Screw M4x6 ;4% 22 M4x6
17 1HJO0763 Back box for water cooled ; K2 1 FIEE
18 IHJ0072 Adaptor nut/Blue ; {2 16 §i % 42 £/i% &
19 ITBO057 501.2156 Euro central adaptor body/water cooling; BX = 7k 14 s $3 sk/7k %
20 1ZT0071 501.0082 Liner nut;i% 2 & §i X2 &
21 IKH0605 Output water tube M5x8mm 0.8m red; EPDM 4528 & M5x8mm 0.8m/4I &
22 IHJ0306 Plastic support for water cooling connector /red;k /4 &
23 1HJ0308 Plastic support for water cooling connector /blue;/k /15 &
24 11C0220 Brass terminal® 2.0x4.0mm 0.35m ; §fi 3% £ & ® 2.0x4.0mm/0.35m
25 11C0160 126.0005 Teflon liner® 2.0x4.0mm 3m Red 4 @ & & ©2.0x4.0mm/3m/4 &
26 11C0571 122.0031 Steel liner® 1.0-1.2mm 3m; $HiX£ £ E® 1.0-1.2mm/3m
27 ICG6000 Spanner for MIG torches; MIG &4 1k F
Complete Torch
ICH0179 Torch autoMIG240 0° 3m euro adaptor/spring pins; & 511246240 0°/3m/3% 1% 5t

ICH0176 Torch autoMIG240 45° 3m euro adaptor/spring pins; H 5124240 45°/3m/3 1%t



